procedure DoColumnPlot(maxCount: integer);


{Plots the User2 column in the Results table.}


var


   xmin,xmax,ymin,ymax,i,xscale,yscale:real;


   awidth,aheight,margin,pwidth,pheight:integer;


   y,pbottom, barWidth, barLeft, barTop:integer;


   sum:integer;


begin


  SaveState;


  margin:=40;


  awidth:=500;


  aheight:=300;


  sum:=0;


  ymin:=0;


  ymax:=-999999;


  for i:=1 to maxCount do


      if rUser2[i]>ymax then ymax:=rUser2[i];


  xmin:=1;


  xmax:=maxCount;


  SetNewSize(awidth,aheight);


  SetForeground(255);


  SetBackground(0);


  MakeNewWindow('Histogram');


  pwidth:=awidth-2*margin;


  pheight:=aheight-2*margin;


  pbottom:=margin+pheight;


  xscale:=pwidth/xmax;


  yscale:=pheight/(ymax-ymin);


  barWidth:=round(pwidth/maxCount)+1;


  SetForeground(255);


  SetBackground(0); 


  SetLineWidth(1);


  for i:=0 to maxCount-1 do begin


     barLeft:=margin+i*xscale;


     barTop:=pbottom-(rUser2[i+1]-ymin)*yscale;


     MakeRoi(barLeft, barTop, barWidth, pBottom-barTop);


     fill;


     sum:=sum+(i+1)*rUser2[i+1];


  end;


  KillRoi;


  MoveTo(margin,margin);


  LineTo(margin,margin+pheight);


  SetFont('Geneva');


  SetFontSize(9);


  SetText('Centered');


  MoveTo(margin+4,margin+pheight+12);


  writeln(xmin:1:2);


  MoveTo(margin+pwidth,margin+pheight+12);


  writeln(xmax:1:2);


  SetText('Right Justified');


  MoveTo(margin-2,margin+pheight-5);


  writeln(ymin:1:2);


  MoveTo(margin-2,margin);


  writeln(ymax:1:2);


  MoveTo(margin+pwidth/2-15, margin+pheight+12);


  RestoreState;


  ShowMessage('sum=',sum:1,'\ymax=',ymax:1);


end;





macro 'Get Strip… [=]'


var


  xwidth,xheight,xval,yval,ii,hoho:integer;


	outputval:real;


begin


  GetPicSize(xwidth,xheight);


	rArea[1]:=xwidth;


	rMean[1]:=xheight;


  if (xwidth=0) then begin


    PutMessage('This macro needs an image to operate on.');


    Exit;


  end;


 	xval:=trunc(GetNumber('x value:',478));


	yval:=0;


  SaveState;


	SetCounter(xheight);


	SetUser1Label('Point');


	SetUser2Label('Intensity');


	for ii:=0 to xheight do begin


    rUser1[ii+1]:=ii;


    rUser2[ii+1]:=getpixel(xval,ii);


  end;


 	 ShowResults;


		RestoreState;


		SetCounter(xheight);


		DoColumnPlot(xheight)


		{PlotProfile}


end;





macro 'Get Line from Center To Point… [=]'


var


  xwidth,xheight,xval,yval,ii,hoho,cx,cy,endx,endy,numpts,stepsz,iii,rval,iiii,start,fin:integer;


	outputval:real;


begin


  GetPicSize(xwidth,xheight);


	rArea[1]:=xwidth;


	rMean[1]:=xheight;


  if (xwidth=0) then begin


    PutMessage('This macro needs an image to operate on.');


    Exit;


  end;


	 numpts:=trunc(GetNumber('Number of Points:',200));


 	cx:=trunc(GetNumber('Center x Value:',493));


	 cy:=trunc(GetNumber('Center y Value:',611));


	 endx:=trunc(GetNumber('End x Value:',959));


	 endy:=trunc(GetNumber('End y Value:',1223));


	 stepsz:=sqrt(sqr(cx-endx)+sqr(cy-endy))/numpts;


	yval:=0;


	xval:=0;


	rval:=stepsz;


	iiii:=0;


  SaveState;


	SetCounter(xheight);


	SetUser1Label('Point');


	SetUser2Label('Intensity');


	for rval:=1 to round(sqrt(sqr(cx-endx)+sqr(cy-endy))) do begin


		beep;


		iiii:=iiii+1;


		rUser1[iiii]:=rval;


		rmean[iiii]:=0;


		rUser2[iiii]:=0;


		{do x first as image is narrow x is iii I think}


		for iii:=(cx-rval-1) to (cx+rval+1) do begin


		{then do y, for a given value of x there are only some y's}


		{first group of y's are calculated from y = sqrt(sqr(rval-stepsz/2)-sqr(iii-xc))+cy}


		start:=round(sqrt(sqr(rval)-sqr(iii-cx))+cy);


		fin:=round(sqrt(sqr(rval+stepsz)-sqr(iii-cx))+cy);


		for ii := start to fin do begin


				showmessage('rval = ',rval,'\iiii = ',iiii,'\ii= ',ii,'\iii =',iii);


				rmean[iiii]:=rmean[iiii]+1;


				rUser2[iiii]:=rUser2[iiii]+getpixel(ii,iii);


				{for second set of y, i.e. below x axis}


				if ii NOT = 0 then begin


					rmean[iiii]:=rmean[iiii]+1;


					rUser2[iiii]:=rUser2[iiii]+getpixel(-ii,iii);


				end;


			end;


 	 end;


	end;


	for ii:=1 to numpts


		ravg[ii]:=sqrt(rUser2[ii])/rmean[ii];


		rUser2[ii]:=rUser2[ii]/rmean[ii];


	end;


 	 ShowResults;


		RestoreState;


		SetCounter(numpts);


		DoColumnPlot(numpts);


end;


